89624 - 89626

Assembly Instruction

| 15 pcs

S

Item A

Item B

~,

| 9 pcs

| 2 pcs

©)—mmm

Item C

| 2w |
| Q)

Item D

Plastic Dowel (8 x25) JCBC W M6 x 40 JCBC M6 x 40 JCBC M6 x 60
ltem E | 2405 | LemF 1pe Item G 38pes | nemH | 16 pes

=

CSK M3.5 x 16 mm

Frmome

CSK M4 x 25 mm

[{asaiaaanns

CSK M4 x 32 mm

g

CSK M4 x 50 mm

Item AA ““] 1pc Item AB % 1pc Item AC I 2pes
I Headboard Footboard Side Rail
Item AD 1pe Item AE pe Item AF I 2pes
Center Rail m
Slat Support Leg
Item AG \ 4 pes Item AH | 4pes
Drawer Slide 500 /D;wer Slide 500
Item 1 _ I_ 2pes Item 2 2 pes Item 3 | 2pes Item 4 | 4 pcs
Drawer Front Pane] Drawer Back Panel : Drawer Side Panel i

Drawer Bottom Panel

[ 1pe

10 pes

6 pcs

| 6 pcs

6 pcs

Item 5 |4PL 1pc Item 7 1p Item 8 1pc
IS
\_/ \\;/
Item 9 1pc Item 10 1pc Item 11 1pc

Item I Item J Item K Item L
M6 Flat Washer Mini Fix Bolt Mini Fix Housing Mini Fix Cap
Item M | 24pes | pemnN | 9pes Item O 1pe Item P | 2pes
Power Nail % White Nail Leg Allen Key 65 mm Adjuster

8 pos
@)-»»»»

Item Q

JCBC M6 x 30




[ dorg

zdas

¢ darg




01 da1s

L dorg

I1 da1s

8 dorg

6 das







61 daig

g darg




\

\ ,{a\\.;/
\ /A \ {o\\'gl
\\ \{,\\,/ Y
\ o7 /’
\ W',
\ i
P P X \ v
V ) ‘\\'\\
‘ )
At <4
/ | (‘
/
/
! A\ D

,
/




